65. The chart below shows an expression evaluated

for hour different values of x. 52 + 5 +§: :29',0 -
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7

11 75‘)

47

61 S0 I’loi‘}pr\ '
— /e

(n-\loxlun—-k

35

Josiah concluded that for all pos tive valuesof x,
x%+ x + 5 produces a prime nufnber. Which
value of x serves as a counterexample to prove

Josiah’s conclusion false?
btcawse 35 mi‘P Pine.

66. John’s solution to an equation is shown below.

A. Multiplication Property of Equality
( BT )Zero Product Property of Multiplication Z

. Commutative Property of Multiplicatioi[ _F a, b = 0)
D. Distributive Property of Multiplicatio 0 b < O
= L d
then o

over Addition

Which property of real numbers did John use for
Step 2?

Given: X +5x+670

Step I+ (x +2)(x¥3)=0
Stp2: X+2:0 or X5V
Step 30 X=-2 or Xz-7



67. Stan’s solution to an equation is shown below.

Given: n+ 8(n+20) = 110
Step1: n+8n+ 20 =110
Step 2: 9n + 20 = 110

Step 3: 9n = 110 — 20

Step4: 9In =90

Sn 90
Step 5: by
Step6: n =10

Which statement about Stan’s solutionis true?

Stan’s solution is correct. St "&3 %‘\ﬂ ("
Stan made a mistake in Step 1 _l_’ lﬁ 5%

Stan made a mistake in Step 3.

Stan made a mistake in Step 5. ﬁo\m,

o 0w p

68. When is this statement true?

The opposite of a number is less than the

original number.

A. Thisstatementin never true.

B. Thisstatementis always true.

@ This statement is true for positive

O
numbers.

D. This statementis true for negative

numbers.



69. What is the y-intercept of the graph of

4x + 2y =127
A -4 C. 6
B. -2 D. 12

,Fluﬂ vero In for X. L/CO)’I'Q%:’?L

70. Which inequality is shown on the graph below?
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A) Ixt+ty=<2
B. 3xt+ty=2

DA8x+y==

71. Which inequality does the shaded region of the . ‘t
graph represent? L

v

72. Which best represents the graph of

y =/’_'2x —,%?
@ i ¥y SAF B. fg.lr{t"
C Yy D




73. Which equation best represents the graph .
Cout shpe. 115

below?
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74. Which point lies on the line defined by

3x + 6y =27

N
A. (0.2) \®(1—§)
B. (0.6) D. (1,-2)

300t () >



75. What is the equation of the line th&hp? sloPe
of 4 and passes through the point (3, -10)?

y=4x—22 SIOPQ

B. y=4x+122

C. y=4x—43 B -’-MX-HD

D. y=4x+43 ~[O-‘*’Lf(3)+b

C.rg=tly-2%

76. The data in the table shows the cost of renting a
bicycle by the hour, includinga deposit.

X

Heurs (h) Cost in dollars (c)

(r 2 ! 15 % ( 2 1'5)
b 30

~—3g 4 15" (5)30)

If hours, h, were graphed on the horizontal axis
and cost, ¢, were graphed on the vertical axis,

what would theeq Enor] of a line be thatfits the

data" oulO‘J“‘ uj ) ;0!‘ I—— g
A. c=5h A 5’ Fe 30 L g
B. C‘=§h+5 _'mx+b

Oz " 0 ¢ s

—  (=5kiS



77. Some ordered pairs for a linear function of x are
given in the table below.

% ¥y
1 1
3 7
5 13
7 19

Which of the following equations was used to
generate the table abovc?? )Wf) (N, Gr K5e) 50&/ (/ )QVIC[

A, y=2x+1 an)'
5}7—21—1 ASIUP(;_’L’_’a
e +b
D. y=4x— 33 % g\g)‘}_b
o)

’5:’5 C.i%x%

78. The equation of the line /is 6x + 5y = 3, and
the equation of line ¢ is 5x — 6y = 0. Which
statement about the two hnes is true?

N oJ(e'-OFYoﬂJCe QC!PYDCGII stopes, SO 1.

A. Lines/and g have the same y-intercept.
B. Lines/and g are parallel.

C. Lines/ and g have the same x-intercept.
D. Lines! and g are perpendigular

6~,<+‘;’7’5 2 by D
,é,y’ §><

/H"(}é’x’% |



79. Which equation representsa line that is parallel
toy = —2x +2?

@ y=—;:c+1

B. y=—1x+2
=
C. y=§x+3

D. y=§x+4

80. What is the solution to this system of equations?
#l\ote: (1,5

Wort
ﬁfJ{ Y 20 "0
o e gt - THE

C. No solution

nﬁmtclymany solutions é + C" l 0) ~- L/

*97 2 Y= |
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